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(1) p(t) = (3—2t,3—t,7—6t) (2) p( )= (2t +1,2,3 —2t) (3) p(t) = (4t — 3, —2t,4 — 2t)
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(1) zy-FHiE DR (3, 1,0), yz- P & DR RIE (0,2, -2), za- il & DR AL (-3,0,-11).
(2) zy-Fiii & DAL (4,2,0 ) yz-FTH & DAL (0,2,4), za-FH & DR AUIFEL R,

(3) @y & DL (5, —4,0), yz- Pl & DRRUE (0,—3,2), za- il & DL RUE (-3,0,4).
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(1) (1,1,1) &8 (10,8,6) ZFEREMRDINT A =X —FKRIE (9t + 1,7t + 1,5t +1) TH 5. ZOELRE
yz—ﬂ??ﬁitmﬁ,@ti,t: —5 DLERDT, (0,3, 5) PEREETHS.

(2) (1,—1,7) & (10,8,6) ZAEIEFRD/NT A =X —FKRIE (9t + 1,9t —1,—t+7) THD. ZDERR
¢ oyz- ﬂzmﬂ:om i, t=—5 DL EBRDT, (0,-2, ) PEEETHS.

(3) (3,8,6) LA (10,8,6) ZREIEMD /ST A =X —FKRiE (Tt +3,8,6) THD. ZOEME yz- VM
aom ¥, t=-2 0L EHRDT, (0,8,6) BERHEGETH 5.
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